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The bar graph given below shows the number of article sold by four different seller 

.नीचे दिया गया बार ग्राफ चार अलग-अलग दिके्रता ओ ंद्वारा बेची ग  ि्तओओ ंी  ंं्या ी  ि्ातता ै। 

Total number of article ि्तओ ी  ीओ ल ंं्या = Table + Chair+ Books(टेबल + ीओ ंी + 

दीताबें)

Green label(ैरा लेबल)= Total article sold (बेची ग  ीओ ल ि्तओ)

Blue label(नीला लेबल )= Sum of chair and table = ीओ ंी और मेज ीा य ग



Question 1- Number of books sold by seller A is what percent more or 

less than the number of books sold by seller C.  

प्रश्न 1- दिके्रता A द्वारा बेची ग  पओ् तीों ी  ंं्या, दिके्रता C द्वारा बेची ग  पओ् तीों 

ी  ंं्या ंे दीतने प्रदत्त अदिी या ीम ै।?
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A. 20%

B. 50%

C. 70%

D. 25%

E. None of these





Question 2- Find the average number of books sold by all seller.

प्रश्न 2- ंभी दिके्रताओ ंद्वारा बेची ग  पओ् तीों ी  औंत ंं्या ्ात ी दज। 
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A. 395

B. 115

C. 285

D. 435

E. None of these





Question 3- If the ratio between the table to chair sold by seller B is 

given by 24% and the same ratio for seller C is given by 60%. Then 

find ratio of table sold by seller B and seller C respectively.

प्रश्न 3- यदि दिके्रता B द्वारा बेची ग  मेज और ीओ ंी ीे बीच ीा अनओपात 24% दिया 

जाता ै। और दिके्रता C ीे दल। ंमान अनओपात 60% दिया जाता ै।  त  दिके्रता B और

दिके्रता C द्वारा बेची ग  मेज ीा अनओपात क्रम्ः ्ात ी दजये 
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A. 1:5

B. 2:5

C. 3:5

D. 4:5

E. None of these





Question 4- If seller D defines cost of books Rs 525 each and marks the price 

of each books 20% above the cost price. If he allows a discount of 40% and 

gives a pen free costing Rs 28. Then find his profit% or loss%.

प्रश्न 4- यदि दिके्रता D प्रत्येी पओ् ती ी  लागत ी  525 रुपय ेपररभादित ीरता ै। और प्रत्येी 

पओ् ती ीा मलू्य क्रय मलू्य ंे 20% अदिी अंदीत ीरता ै।  यदि िै 40% ी  छूट ितेा ै। और 

28 रुपये ी  ी मत िाला ।ी पेन मओफ्त ितेा ै।  त  उंीा लाभ% या ैादन% ्ात ी दजये 
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A. 33.33% loss

B. 52.3% profit

C. 50% profit

D. 60% loss

E. None of these





Question 5- If the total profit of all seller is Rs 42,000 and they 

sells each article at same cost price then find there total profit 

percent.

प्रश्न 5- यदि ंभी दिके्रता ओ ंीा ीओ ल लाभ 42,000 रुपये ै। और िे प्रत्येी ि्तओ

ी  ंमान क्रय मलू्य पर बेचते ैैं त  ीओ ल लाभ प्रदत्त ्ात ी दजये 
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A. 20%

B. 25%

C. Data inadequate

D. None of these

E. 12%
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The given pie chart shows the 

percentage of total number of article 

sold by five different seller. The total 

number of article sold is 4800.

दिया गया पा  चाटत पांच अलग-अलग दिके्रता 

ओ ंद्वारा बेची ग  ि्तओओ ंी  ीओ ल ंं्या ीा

प्रदत्त ि्ातता ै।  बेची ग  ि्तओओ ंी  ीओ ल

ंं्या 4800 ै। 



Question 6- Find the sum of article sold by seller D and E. 

प्रश्न 6- दिके्रता D और E द्वारा बेची ग  ि्तओ ीा य ग ्ात ी दज। 

A. 828

B. 888

C. 728

D. 788

E. None of these
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Question 7- Find the number of article sold by seller B whose 

percentage is x.

प्रश्न 7- दिके्रता B द्वारा बेची ग  ि्तओओ ंी  ंं्या ्ात ी दजये दजंीा प्रदत्त 

x ै। 

A. 828

B. 888

C. 728

D. 788

E. None of these

A B C D E

𝟏𝟎𝒙/𝟗%

16

25

21

X





Question 8- If A(10x/9) received Rs 550 as commission. Then 

find total commission earned by him.

प्रश्न 8- यदि A (10x/9) ी  ीमी्न ीे रूप में 550 रुपये प्राप्त ैु।  त  उंीे 

द्वारा अदजतत ीओ ल ीमी्न ्ात ी दजये 

A. Rs 128000

B. Rs 528000

C. Rs 428000

D. Rs 328000

E. None of these

A B C D E

𝟏𝟎𝒙/𝟗%
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X





Question 9- Find the value of 10 𝑥 + 20% of 𝑥 + 𝑥2

प्रश्न 9- 10 𝑥 + 𝑥 ीा 20% + 𝑥2 ीा मान ्ात ी दजये

A. 145.6

B. 345.6

C. 225.6

D. 453.6

E. None of these

A B C D E

𝟏𝟎𝒙/𝟗%
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Question 10- Find the combined corresponding central angle for 

A , B and C.

प्रश्न 10- A, B और C ीे दल। ंंयओक्त ंंगत ीें द्रीय ी ण ्ात ी दज। 

A. 125.8°
B. 154.8°
C. 108.8°
D. 111.8°
E. None of these

A B C D E

𝟏𝟎𝒙/𝟗%

16

25

21

X





NAME WORKING 

DAYS

WORK DONE 

PERCENTAGE

A 16 20%

B 6 10%

C 12 25%

D 30 30%

E 12 15%

The table given below shows the work done by different person.

नीचे िी ग  तादलीा दिदभन्न व्यदक्तयों द्वारा दी। ग। ीायत ी  ि्ातती ै। 



Question 11- A and B started doing the 

work. After 10 days they both left, and C 

joined the work. He completed his part of 

work. Now the remaining work was 

completed by T in 17 days. In how many 

days can T complete whole work?

प्रश्न 11- A और B ने ीायत ीरना ्ओरू दीया  10 

दिनों ीे बाि िे ि नों चले ग।, और C ीाम में ्ादमल 

ै  गया  उन्ैोंने अपने दै्ंे ीा ीाम परूा दीया  अब 

्ेि ीायत T द्वारा 17 दिनों में परूा दीया गया  T परेू

ीायत ी  दीतने दिनों में परूा ीर ंीता ै।?

A. 16 days

B. 32 days

C. 40 days

D. 30 days

E. None of these

NAME WORK

ING 

DAYS

WORK 

DONE 

PERCE

NTAGE

A 16 20%

B 6 10%

C 12 25%

D 30 30%

E 12 15%





Question 12- S is 25% more efficient than 

B and R is 60% more efficient than C. 

They worked together for 10 days and left 

the work, after which the remaining 

work was completed by D in ?

प्रश्न 12- S, B ी  तओलना में 25% अदिी ीओ ्ल ै। 

और R, C ंे 60% अदिी ीओ ्ल ै।  उन्ैोंने 10 

दिनों ीे दल। ।ी ंाथ ीाम दीया और ीाम छ ड़ 

दिया, दजंीे बाि ्ेि ीाम D द्वारा दीतने दिनों में

परूा दीया गया?

A. 40 days

B. 30.8 days

C. 45.8 days

D. 60 days

E. none

NAME WORK

ING 

DAYS

WORK 

DONE 

PERCE

NTAGE

A 16 20%

B 6 10%

C 12 25%

D 30 30%

E 12 15%
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